G.S.C.E
Chapter Covered Simplification
(50 Questions with Options)

1. Question

(3024 + 189)% + (684 + 19)% = (7)% + 459

1) © 27
s © 29
sy O 31
» O 841
5 © 1089
2. Question

4.4 times off—sol’SO% of 216 =7

y O 819
2) 837
3 © 873
s O 89.1
5 © 857
3. Question

(1.06 + 0.04)*—7= 4 x 1.06 X 0.04

y O 1.0402

2) © 14

s © 15

» © 1.032

s C none of thes
4. Question

0.538x0.5280-0.462x0.252
1-0.924

=7

2
1.08
0.076
4) 0.987
5) 1

2)

3)

D RS RS G B




5. Question

27 x6+9+ 7 +71=(7)% —431

1) 11

(‘
2) . 13®
3 O 13
g © 1
-

3
5) 11

6QWhat approximate value should come at place of the question mark(?) in the
following question?

Y5332 =?

1) 8

2) 38

3) 58

4) 68

5) 18
7Q:What approximate values should come in place of the question mark(?) in the
following question?

J 2228 =7

1) 57

2) 47

3) 67

4) 37

5) 27
8Q: What approximate value should come in place of the question mark(?) in the
following question. 635%x455+403="

1) 735

2) 795

3) 695

4) 685

5) 715
9 Q What approximate value should come in place of the question mark(?) in the
following question? 5223+36x0.93="

1) 135

2) 125

3) 145

4) 155

5) 115




10. Q: Simplification the following equations shown below
(7921 = 178) — 5.5 =7
1) 1512
2) 1521
3) 1251
4) 1531
5) None of these
11Q: Simplification the following equations
(5863 —2704) x 0.5 =?

1) 2955.5
2) 2905.5
3) 2590.5
4) 2905.5
5) None of these
12 Q:What should come place of the question mark(?) in the following number

series?
17,18, 26, 53,117, ? , 458

1) 342
2) 142
3) 257
4) 262
5) 242
13 Q: What will come in place of question mark(?) in the following number series?
11, 57, 149, 333, 701 (?)
1) 1447
2) 1347
3) 1368
4) 1437
5) None of these
14Q. Q: 2/3 is what percent of 1/3=?
1) 50%
2) 70%
3) 50%
4) 200%

150 CP0%) =




16Q The square root of 64009 is :

18Q (315;01‘2):?

1.
1.
1.

Lrz
»NO
SRR

4) 1.55
19QThe value of (*I™is ?

1) 0.02
2) 0.2
3) 0.51
4) 0.63

31570x2
20QThe value of (= Jis
1) 0.011
2)0.11
3) 0.347
4) 11
21Q
Simplify
1.5+ 47 +38° 321524738
157 LAY L3815 ElT Ers 98 T 538

A)6 B)8
)10 N2
22Q

Simplify the following :
37°+35°+28° 3237235228 o
372+35%+28% 3723535228 37228

A)100 B)1

Q)4 D)0




23Q
Ifa*b=2a-3b+ab,then3*5+5*3 isequalto

A) 22 @ B) 23
0 C)24 B D) 25
24Q
Ifa+b+c=13, a>+b>+c>=69thenfindtheab + bc +ca
) A)10 O B) 30
O Q50 @ D) 70
25Q

Simplify the fraction?
5(2/7)-3(1/14)-2(1/14)-1(1/7)=2+3(1/17)

A)-40/17) @ B)5(2/17)
OoQ-20/17 B D)3/
26Q
Simplify the following equation.
19 1
=+

2+ 11

3+ :
1 A)43/19 1 B)1
| C)38/19 | D) None of these

27Q
Find the value of
n+ 2+ 2y 00
A0 O B)1
| C)?2 () D) infinity
28Q

V9261 = /62742241 = ? + 89
Find the value of '?'

) A)166251 @ B) 166259

@ ) 166252 @ D) 166253




29Q
Simplify and find '?'

48./7 + 327 = 320

@ A4 @ B)S

B O1l6 @ D) 32

30Q

If 3 + 7 = 2®> + p = Tx + 5, what is the value of P ?
A)17/2 B) 25/3
C)33/4 (J D)41/5

31Q

Simplify the following equation
[{K—L)z—(fﬂ—L)?}

1K =
0O A)K=b/a (1 B)bL=-a
B OKL=1 (1 D)aK=-b
32Q
38% of 7500 + ?% of 375 = 50% of 6000
1 A)50 ] B)40
) C) 60 @ D)45
33Q
4 2 _ a8
12 - e — ¥ =i
1 A)16 ) B) 17
C)18 D)19
34Q
If 3¥7¥ = 27, 3¥¥ = 243 then find the x value
] A)2 0 B)8
35Q

Simplify the following and find the value of ?

%of? + ; nf% of 539 = 31% of 2000

(1 A)1134 O B) 1237

B O1187 @ D) 1249




36Q
Simplify (2v/392 — 21) + (v8 — 7)* = (2)?

A4 B B)5

D Q)6 B D)9
37Q

43% of 616.6 + 37% of 217 =7

[ A)345.428 [ B)354.428
() C)344.428 [ D) 364.428
38Q
39.96% of 649.85 +13.07=45.14-?
[ A)25 [ B)26

j C) 27 1 D)28
39Q

a 4 b: I e2—a? .
Ifi = Eandz = E,then P IS .

1 A)7/5 B B)7/25
) C)7/125 )} D) /7
40Q

23z12+49z15 o

312450

1 A)O.5 B B)1
@02 @ D)3
41Q

Simplify the following :
41 X 33 + 7 = 20% of 120

1 A)10 1 B) 24
B )36 ) D)40
42Q

Simplyfiy : [3% i, {1% — 2 (2% _ ( 1 _|_%))}]
B A)78 0 B)88

B8 098 O D) 108




43Q
2660 of = of 3 of o= of + =7

9.5 2

D AT () B)10

3 Q) 0.1 1 D)100
44Q

Given that 10948 = x, 10970 = yand x? = 2, then the value of zis close to
3

0 A)3.7 O B)2.7

B C)3.6 @ D)2.9
45Q

Simplify the following expression?
40% of (2= x 7) =48

@ A)24 @ B)22
@ C)20 @ D)18
46Q

142% = 1/1260.25 = ?

[ A)586 [ B)578
[ C)568 [ D)566
47Q

7

10f448 + £ of 3374 = 7

[ A)3084 [1B)3184
1 C) 3584 | D) None of these
48Q

Which of the following statement(s) is/are TRUE?

1t 1 1 i oo R
bs bbb n e & 22

1 1 i i | R
liStsstsmt tom = &
() A)Onlyl () B)Onlyll

1 C)Bothlandll 1 D) Neither | nor Il




49Q
What should come in place of question mark (?) in the following

question?

41% of 600 - 250 =7 - 77% of 900

@ A)889 O B) 589
@ C)789 () D) 689
50Q

50.003% of 99.8+49.988 =7

0 A2 ) B)O

8 O1 ) D)50




	1. Question
	2. Question
	3. Question
	4. Question
	5. Question
	6QWhat approximate value should come at place of t
	7Q:What approximate values should come in place of
	8Q: What approximate value should come in place of
	9 Q What approximate value should come in place of
	10. Q: Simplification the following equations show
	11Q: Simplification the following equations
	13 Q: What will come in place of question mark(?) 
	14Q. Q: 2/3 is what percent of  1/3=?

